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SMAPLE PAPER- I

QUALITATIVE APTITUDE

PSA (XI)
Time:-

Q.1: Some equations are solved on the basis of certain system. On the same basis find out
the correct answer for the unsolved equation.

If:24+15=93and 17+32=94then41+34="

1. 75 b) 57 c) 189 d) 199

Q-1: F3 GHiRr Tt a9 yomelt & ¥R W ga fhu @ B 3 SMUR W g 7 fpy

T GHIRI 1 Il A HITST
If€ 24+15=93 TH 17+32=94 Td 41+34=7

2. 75 b) 57 c) 189 d) 199

Q.2: Select the missing number from the given represents:
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5%*20=96
11*7=67

19*11="

1. 207 b)194 c) 191 d) 209

Q.2: ¥ e ¥ U T fosedl § 9 @@ ¥ I &ifvw|
6*3=13
5*20=96
11 *7 =67

19*%11=">

1. 207 b) 194 c) 191 d) 209
Q.3: If a box containing two dozen cups is dropped than which of the following cannot be

the ratio of broken and unbroken cups?

1. 2:1 b)6:1 c)5:1 d3:1

Q.3: A% forddt o & < <5 w9 2, 3O AR@n T a9 39 o @ i 91 U 22 FHA h

ghm?
1. 2:1 b)6:1 c)5:1 d)3:1
Q.4: in acertain code, 15789 written as XTZAL and 2346 are written as NPSU, How is

23549 written in that code?
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[ i A Complete guide for CBSE students

Q.4: afE frgt e 9 § 15789 1 XTZAL @R 2346 &I NPSU, fo@n Simar €, d 23549

A o
&I +9 fomn smam?

1. NPTUL b) PNTSL  c)NPTSL  d) NBTSL

Q.5; Atthe end of a banquet, 10 people shake hands with each other. How many

handshakes will there be in total?

1. 100 b)20 c) 45 d) 50

Q.5: T | o 3@ H 10 @R 7 Th TR ¥ &1 Hamn $a fean ar g e gan?

1. 100 b)20 c) 45 d) 50

Q.6: Which of the following words will appear fourth in the dictionary?

1. Sentiment b) Separate c) Sentinel d) Sentience

o o o

Q.6: FefafEd sl § i 1 T=HE & AR oY THE W EAM?

Sentiment b) Separate c) Sentinel d) Sentience

Q.7-Q.12 Passage — |
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P,Q,R,S,T and U are six persons travelling together in a Boat. Three of them Q, R and T are
women and the rest are men. However P,Q,R and T are all vegetarian and S and U are non-
vegetarian. Finally Q, T and U know swimming while the rest do not know to swim.

Q.7: Inagroup, who is the non- vegetarian male who does not know swimming?

1. s b) U c) P d)T

Q.8 Inagroup, who is the non- vegetarian male who knows swimming?

1. P b) Q c)R d) None of these

Q.9 Howe many of the vegetarian males in the group knows swimming?

1. None b) Some c) All d) Can’t say

Q.10 Inthe group, who is the vegetarian female who knows swimming?

1. R b) Q c) P d) U

Q.11 Inthe group who is the only female who does not know swimming?
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1. p b) Q c) R

Q.12 Inthe group total vegetarian female who know swimming?

1. 4 b) 2 c)0

TS 1 Y@ U9 F& 07-12 & IR e

RS

d) None of thesg

= i A Complete guide for CBSE students

P,Q,R,S,T 3RU 19 & ©; =aferd Tk 71al § a1 L ® B 390 © 9 Q, R @ T Afgad 2
qe 99 &Y €1 P,Q,R 91 T YMHEN © Sefeh S 3R U HEiedl €1 Q, T den U o%l STl

T iR 3 I T8 S|

9% 7) GHE W HiERE e, S d w82

U9 8) WHEN &Y, S q SHd 82

1T P  b)Q c)R d)z7d 9 g &l

Y faY Q .
939 9) AT S ol YTehER qEN i W €72
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a) = b) FS c) Tl d) #g T& gd

99T 10) IMHER Afead SO S e

LA b) Q R d)z @ wiE

U9 12) I S ol e AR Afged 22

Q.13-Q.18

Study the information and answer the question given below it:
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1. A weights twice as much as B

2. B weights four and a half time as much as C
3. C weights half as much as D

4. D weights half as much as E

5. E weights less than A but more than C.

Q.13: Which of the following is the lightest in weight?

1. A b) B c)C d) D

Q.14: Eis lighter in weight than which of the other two articles?

1. A,B b)D,Cc)ACd)D,B

Q.15: Which of the above given statements is not necessary to determine the correct order
of

articles according to their weights?

1. () b(iii) o) (i) d) (v)

Q.16: E is heavier than which of the following two articles?

1. D,B b)D,C c)A,Cd)A,B
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1. A b) B c)C doD

Q.18: Which of the following represents the descending order of weights of the articles?

1.  ABED,C b)B,D,EACc)CCD,AB d)CA,D,B,E

T & 13-18
YT HEA 13-18 & I MY H & M AN F AER W G
Th ER % U UE AR i a&qU A, B, C, D 3R E € Ycieheh! WR Te-3TeAT B

Y
()A®T YR B & g1 &
(ii)B %1 ¥R C ¥ GR=R T 2|
(ili)C T YR D ¥ 37 @
(iv)D T 9 E § a7en @

(VERT SR A ¥ &H T &H W C ¥ S 2

Q.13) 578 9§ % | a4 okl 872
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a)A b) B c)C d)D

Q.14) E fo 31 ageti 9 9R o gt €2

1, A,B  b)D,Cc)ACd)D,B

Q.15) TR fZU T woa § 9§ DA H FUH, N F HH (RN F fou FTE&G 272

1. (i) b(iii) c) (ii) d) (v)

Q.16) E frd < a&get ¥ 9R ¥ Wi 22

1. D,B b)D,C c)A, Cd) A, B

Q.17) = o 9 =1 @ o5 qed 9?2

Page 258 of 280



Q.18) T W i W % G & TSI AR F AR €2

1. AB,E,D,C b)B,D,EA,Cc)CCD,AB d)CA,D,B,E

QUANTITATIVE REASONING

Q.19: Inrational number 0.53467 can be expressed as :

1. 892/1665 b) 53414/99999c) 53414/ 99990

Q.19:0.53467 &I UfET H@ % w9 H-

892 )53414 C) 53414
1665 99999 99990

Q.20: If a, B are the roots of x*— 8x + 15= 0 what will be the value of

CBSE:
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d) 26707/49950

26707
49950

(X2 BZ
_+_

(04
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152 872 25 9
E b) E C) — + — d) 1

Q.21: A mixture of 40L of spirit & water contains 10% water. How much water must be
added to make 20% water in new mixture to use for the purpose?

1 5L

2. 10L
3. 75L
4. 1251L

Q.21 T o ot & fagor o 10% ot @1 99 foramn ot e ST R 20% 9t 81 S
dqifer 39 fordt &1 | 9T X G|

1 5L
2. 10L
3. 75L
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Q.22t0 Q.25

The following graph gives the marks scored by a student in different subjects ENGLISH,
HINDI, MATHEMATICS, SCIENCE AND SOCIAL SCIENCE in an EXAMINATION, ASSUMING that
the total marks obtained for the examination are 540, Answer the question given below:

-

famm 80

Q.22 The marks scored in Hindi & Mathematics exceed the marks scored in English and
Social Science?

Q.23: The subject in whom the student scored lowest marks is?

1. Maths b) Social Science c) English  d) Hindi

Q.24: The difference of marks between English and Science is same as between?
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1. Science & English b) Hindi & Social Science.
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c) English & Hindi d) Mathematics & Social Science
Q.25 The subject in which marks obtained are 22.2% is :-
1. English b) Hindi c) Science d) Mathematics

Q22-25
Q= U 98 7w | T s g fafy= faw=i oqush, fe=<t, wfvra, fogm o gwifser fasmm o
UTdieh k1 fofeRoT @iien T 82 3R o 3 Wien W fd 3k 540 Wi fHU B A Fre weA &
SW 3-

T 90| TS 5

qofagm™ 65 &<t 70

famm™ 80

a.22: &R 9 Tfora o YTt 1 Sie STUS | gHiee H Wi STl 9 foha Sy g2
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1. 60 b) 30 c) 40 d) 70
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Q.23: 8 A forg foma o =am ois% o fog 22

1. T b) TS Ta= c) STUSH d) fet

Q.24 U<t 9 foum fomg § grasient =1 o) f= | fom fowai § wra ofof & AR & T9H
2

1. fagm 9 21UsTy) &<t 9 wwfees fosm

a.25 forafawa & 22 % of% ura few 22

1. sust bRt o)famm  d) Tt

Q.26: If B takes 10% less time than A to cover the same distance when A’s speed is 9 km/hr.
Find B’s Speed?

afE BA W 10% A GHE GAM O & fAU A Safm A w1 WA 9 TRy W & @ s Y
e A B2

1. 8 km/hr b) 9 km/hr c) 10 km/hr d) 11 km/hr

Q.27: The price of rice increase by 25%. Find by what % the consumption of rice should be
reduced so as not to increase the expenses?
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aEd o qed H 25%. Jf6 g3l @Ud fha Ui i ST 4

1. 40% b) 60% c) 80% d) No change

Q.28: During his journey, Dinesh travels for 30 minutes at 30 km/hr another 30 minutes at
speed 50 km/h, next 1 hour at 50 km/hr & last 2 hours at 65 km/hr. What is the average of
speed of entire journey?

SO AT % SR Y vee 30 fiFe, 30 fRHLAe & 9 9, o e 30 fime 50 fE
./ e & = ¥ R 1 s iR enfadt 2 W 65 fRHL/H #) =9 @ =err @1 qd
RIEIEIE: E L e = CRCAl I

1. 55 km/hr b) 50 km/hr c) 39 km/hr d) 60 km/hr
1
Q29; 1+ T -
1
1+§
12 29 10
1
Q29; 1+ T -
-1
1+§
12 29 10
a) — b) 9 c)— d) —
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Q.30: In a firm the daily average salaries of a peon, a clerk, a sec@.@;{?_. 8:8:2,) ger are
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in continued proportion. If salaries of a peon & a section head aie is. 4uu & ns. 5u0 resp.
then the salaries of the other two will be?

1. 3950,31000 b)I 600, T1350 c)I650,3I1300 d) <500, 1450

Q-30: T HUAET B T dUUHT, deldh, faunT seaey SR Af 9qae ok faum st &
aqd ®ue: T 400 I T 900 © @ VW QY &1 AdT F BIM?

2. 3950,31000 b)3I600, 1350 c)I650,I1300 d) T 500, 1450
Q.31: Divide Rs. 558 among A, B, C, so that if their shares be diminished by Rs. 4, Rs.6, Rs.8

respectively, reminders shall be in the ratio2: 3:7?

1. Rs.94, Rs.141, Rs.323
2. Rs.97, Rs.138, Rs.323
3. Rs.94, Rs.140, Rs.324

4. Rs.94, Rs.137, Rs.327

2313558 A,B, den C H 39 YR o1 U Tk Afs 39 fewd woe: 34,3631 T8 %
fhT ST @ 39 2:3:7 & SAUC H T

1. 394, %141, %.323
2. 397, %138, %323
3. 394, %140, 3324

4. 94,%137,3327
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Q.32: Difference in the compound & simple interest on a certain sl Jo¢pil5.9] [he rate
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of 4% p.ais Rs.2. Then the sum will be:

1. Rs. 1000
2. Rs.2000
3. Rs.1250
4. Rs.1550

Q32:FS o 1 2 I & Tkl oA o IR AT 1 A 4y aMfteh T 9 T2 ®

al JoTuA = B

1. < 1000
2. <2000
3. <1250
4. <1550
Q.33-Q.36

If area of 4 walls of a hall whose breath is 15 m and height is 8 m is 1068 m”. Give the
answer of following question:
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Q.33: What will be the length of longest rod that can be placed in the Hall?

1. 17m b)17 V2 m c)34/2m d) None of these

Q.34: What will be length of the hall?

1. 10m b) 15 m c)17 m d)18m

Q.35: What will be total area of wall paper required to cover the walls?
1.  3645m’ b) 1068 m’ c) 1286 m’ d) 2136 m’
Q.36: Find the cost of carpeting the floor @ Rs. 10 m*?

a) Rs.2550 b) Rs. 2500 ¢) Rs. 2250 d) Rs. 2300

Q33-36

T B 1 IR Ko &1 &5 1068 M7 © et 9l 15 f. 9 3= ¢ @ g1 @ =
Y9l & I’ ST
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1. 17 HW. b) 172 c) 34 VZHI. d) ST T His &l

Q34) 39 BT k] IS &1 B2

1. 10 . b) 1 T, c) 17 ™. d) 18 |,

Q35) BT i O T T S ol YW hl &5%hel o B2

1. 3645 HI.” b) 1068 T.? c) 1286 |1, d) 2136 ™.

Q36) Y W <q TasM 1 @9 F B? A @ 210 Ufd o Hiew St 2

1. [12550 b) ¥ 2500 c) 2250 d) %2300

ENGLISH LANGUAGE CONVENTIONS

.37-Q.44

Read the paragraph carefully and answer the questions that follow by picking up the right
option.
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Tom appeared on the side walk with a bucket of white wash antit(@ g hapdled brush. He
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surveyed the fence, and the gladness went out of nature, and a Geep iniciaiiciioy settled
down upon his spirit. Thirty yards of boards fence nine feet high! It seemed to him that life
was hollow and existence but a burden. Sighing he dipped his brush and passed it along the
topmost plank; repeated the operation ; did it again ; compared the insignificant white
washed continent of un white- washed fence and sat down on a tree box discouraged. Jim
came skipping out at the gate with a tin pail, and singing ‘Buffalo Gals’. Bringing water from
the town pump had always been hateful work in Tom’s eyes before, but now it did not
strike him so. He remembered that there was company at the pump. White , mulatto and
negro boys and girls were always there waiting their turns, resting, trading playthings.
Quarrelling , fighting , skylarking and he remembered that although the pump was only a
hundred and fifty yards off, Jim never got back with a bucket of water under an hour ; and
even then somebody generally had to go after him. Tom said ‘ Say jim’, | will fetch the
water if you white wash some.

Q.37: Tom appeared with a of whitewash :

1. Packet b) Container c) Box d) Cup
Q.38: Tom was to see the fence:

1. Sad b) happy c) Worried d)annoyed

Q.39: He was feeling low because

1. The fence was too high to reach
2. It seemed a burden to him
3. Brush was too heavy
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". g

Q.40: Which part of the fence Tom started to white wash:

1. Lower most b) Middle c) Upper most d) Inner most

Q.41: What was Jim doing?

1. Sliding and Skipping

2. Singing and Skipping

3. Crying and Skipping

4, Sighing and Skipping

Q.42: Fetching water from town pump seemed to Tom. Before,

1. Enjoyable b) Hateful c) Foolish d) Pleasurable

Q.43: Tim always got late in fetching water from the pump because:-

1. It was far off

2. It was a hundred and fifty yards away
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4, His bucket was heavy.

Q.44: How was Jim brought back:-

1. By calling out loudly

2. By sending a message
3. Tom had to call him
4, Someone would go after him.

GRAMMER & USAGE

Q.45: Fill in the suitable determiner:-

I’ll have a cup of tea; Will you have too ?

1. One b) any c¢)a d) none

Q.46. Fill in the correct modal:-

God bless you !

1. Must b) should c¢) May d) none

Q.47. Spot the error:-

Not only she watched/the news/but she also/cooked food
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(a) (b) (c) (d)

Q.48. Fill in the correct options from those given:-

My mother for me. | cannot go home late.(wait/was waiting/will be
waiting)
1. Wait (b) was waiting (c) will be waiting (d) none

Instructions:- Read the following items and select the appropriate option out of the four
choices given

under each of them:-

Q.49. He got the success with flying colours and everybody congratulated him.

In the above sentence what may be the meaning of the underline word:

1. Unknowingly (b) remarkably well (c) shamefully (d) with red and blue colours.

Q.50. Mr. Sridharan was the mastermind behind the success of Delhi Metro.

‘mastermind’ means here

1. Planner (b) friend (c) train driver (d) a person who given money.
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b

office performance

‘show stopper’ here means:-

1. A failure (b) a flop-show (c) very impressive performance (d) friendly appearance.

Q.52. Itis a myth that a man becomes ghost after death. What can be opposite of ‘myth’
in this sentence:-

(a) Fiction (b) fact  (c) false belief (d) opinion.

Q.53. Fill in the correct connector from those given:-
| have been to Kashmir four times, | won’t mind going there again.

1. Yet (b) but (c) nevertheless (d) however.

Q.54. Fill in the correct form of the verb given:-

He was in the Amazon Jungles when his mother .

1. Die (b)dead (c) died (d) under.

Q.55. Fill in the appropriate preposition:-

A clever fox jumped a lazy hen.

1. On (b)upon (c)over (d)dying.
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Q.56.

Q.57.

Q.58.

Q.59.

Q.60.

Spot the error in the sentence:-

My mother/ prayed/ that God may granted/ me success.

(b) (c) (d)

Fill in the blank with appropriate word:-
Most of the students like cricket.

Play (b) have playing (c) playing (d) played.

Fill in the correct form of the adjective:-

She is the girl of our batch.

". g

CBSE:
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Intelligent (b) more intelligent (c)most intelligent (d) intelligently.

Fill in the correct adverb:-
The hare ran fast but the tortoise move

Hardly (b) barely (c) slowly (d) rarely.

Fill in the blank with appropriate article. Use ‘X’ if there is no need to use article:-

Number five hundred and five,

A b) an c) the d) X

house next door to us, is for sale.
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& T & FRU BT G FE O ©, g8 SHR GG FE o ©, 981 UM g8

F ga o g 7, afch SHHT I HT AR T T AT H TR HT ATRT IHY
g &1 = ©, e foet arensti @ o= @k | e S el @ Sea 3

AT T = A OFE § wd €1 39 Wied sied | gR-ddd qordl % wa

YR TMfeR] < o HNOT &1 qerEiard w1 SREshivl AHatE 21 g i e <

gl ! W& 1 7 Bkl Ush &9 H S99 hcd hl Wl 2l

61) I d<H & o HROT B?

F) = ¥ F9d S
9) IR H Yl AT
T) =1 1 FEA HEA

¥) gRI k1 d=d hLl

62) THENG TF H i 95 21 T 1 HROT 8-
%) qoTdl i =g 3|
@) qoadl TH i ST
T) et 1 e die
o) qordl T ToA IR I
63) S AN I YUk B Tehal B-
F) qordl sl &= d&A1

@) Jodl i 3T
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Q) foar & &1 ale
M) Hehed
¥) Wigsw A

67) ‘waA' Tex w1 WY o7 B-

F) I-l Q) gl e
) foRdr T ™ T) Hel-hal

68) TTHdl 1 fael™ 9= ©-
&%) IUBH Q) FUdl
) 3Igsdl o) afed

69) Tr=fafad ¥ § I[§ ad-l 1 999 Hifae-
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SAMPLE PAPER - lIAnswers:

Q.No. Answer Q.No. Answer Q.No. Answer
1 B 31 A 61 A
2 C 32 C 62 D
3 B 33 B 63 C
4 C 34 C 64 C
5 C 35 B 65 A
6 36 A 66 B
7 A 37 B 67 B
8 D 38 A 68 C
9 A 39 D 69 B
10 B 40 C 70 B
11 C 41 B 71 A
12 B 42 B 72 D
13 C 43 C 73 A
14 A 44 D 74 D
15 D 45 D 75 A
16 B 46 C 76 A
17 A 47 A 77 B
18 A 48 C 78 D
19 D 49 B 79 D
20 A 50 A 80 A
21 A 51 C 81 B
22 A 52 B 82 D
23 C 53 B 83 C
24 D 54 C 84 C
25 C 55 C

26 C 56 C
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